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The drill bit is poised

to drill an o
embouchure hole, ~ Drill bit
centered on point Z, ~

with the edge angle
formed by lines EF
and GH.
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@ The distance between the
parallel lines, AB and GH, is the
radius times the cosine of the
edge angle, as shown below.
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@ The edge of the hole lies along S
line GH so we need to move over '
one drill bit radius. This is shown |
below, followed by the rest of the '
derivation of the formula. |
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cos(90-q) =
cos(90- g) = sin(g)
Edge angle = 90-a
sin(g) = cos(edge) - S/R
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